0 USE OF ENGLISH (GRAMMAR/VOCABULARY)

1. What do these people have to do in their jobs? Underline the correct word in
brackets. There is an example (0) for you.

Mr Gordon is an architect. He (0) (designs/examines) comfortable
houses and other (1) (buildings/enterprises). He does not have to
(2) (organise/explain) people to build them.

Mrs Lee is (3) (a postal worker/a postal officer). She (4) (delivers/
reads) newspapers and letters to people.

Mr Bixby and Mr Fraser are (5) (engineers/designers). They
(6) (repair/design) and build engines, machines, bridges.

Mrs Pierce is (7) (a manager/a housewife) in a big supermarket.
She (8) (organises/does) other people’s job.

Mr Pierce is a mechanic. He has to (9) (repair/produce) cars and
he has to (10) (explain/serve) to a driver what has happened to his
or her car.

2. Russell Baker is an American journalist.

Read about Russell Baker’s job which he did when he was eight. Fill in the gaps
with have to and must in the correct form.

When Russell Baker was a small boy, he worked as a paper boy.

He didn’t like this job because he (1) do a lot of things he
did not like. He (2) _ get up early. He (3) ___ carry a
heavy bag with a lot of newspapers. He (4) walk from house
to house and ring the doorbells. Every day he (5) sell 30
newspapers but he didn’t. His mother told him, “You (6)
_work a lot. You (7) _____ know that life is not all play. If you
want to make a fortune you (8) __ have the character. If at first you

cannot do what you should, you (9) feel unhappy. You (10)

work and work." In his dreams Russell wanted to be a writer. He
thought the life of a writer was easy. Writers (11) to walk from
house to house. They (12) carry a heavy bag. They (13)

ring doorbells. And what is more, writers (14) have the
character.




